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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

N

N
(@

.Bethe-Bloch dE/dx 60

—
(&)
|

dE/dx [a.u]
|

p-slice_0_7 particle: k_plus
RMS = 2.945 +0.030
frac_bkg1 = 0.6860 + 0.0099 043

frac_bkg2 = 0.3839 + 0.0093
ml = 6.5093 + 0.0075
mi_bkg1 = 2.1928 + 0.0032
{ mi_bkg2 = 2.24 +0.21
sg= 0.77

{ sg_bkg1 = 0.32448 + 0.00018
{ sg_bkg2 = 5.192 + 0.074

!

Counts
~n
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10—

sl= 1.0
sl_bkg1 = 0.1200 + 0.0091
sl_bkg2 = 5.185 + 0.047
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

'5‘ 20 .
S N Bethe-Bloch dE/dx 60
< - |
kS .
L 15—
© B p-slice_0_8 particle: k_plus

— RMS = 2.467 +0.025

— .2 180 frac_bkg1 = 0.434 + 0.012 036

— = . frac_bkg2 = 0.733 + 0.015

10— 8 160 ml = 5.5093 + 0.0022

I 140 mi_bkg1 = 2.1084 + 0.0050

— ml_bkg2 = 2.56 + 0.24

I 120 sg= 0.64

— 100 s$g_bkg1 = 0.3302 £ 0.0096

5— - sg_bkg2 = 3.10 +0.10

B sl= 0.85

B 60 sl_bkg1 = 0.1200 + 0.0020

B 40 sl_bkg2 = 3.887 +0.014
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)
System 0

SELECTION of Kaons:
M,, 50 MeV/c

Slices of 30 MeV/c

60

= 20
© N .Bethe-Bloch dE/dx
R
) L
Ke) L
LU 15—
© B p-slice_0_9 particle: k_plus

- RMS = 2.485 + 0.023

— .2 180 frac_bkg1 = 0.331 + 0.023 032

— 5 frac_bkg2 = 0.723 + 0.025

1 0 _ 8 ml = 4.8093 +0.0014

I mi_bkg1 = 2.0488 + 0.0036

— mi_bkg2 = 10.04 +0.19

I sg = 0.4382 +0.0070

— sg_bkg1 = 0.2739 +0.0029

5— sg_bkg2 = 5.856 + 0.084

B sl = 0.65099 + 0.00096

B si_bkg1 = 0.1200 + 0.0011

B b - sI_bkg2 = 4.226 +0.058
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

'5‘ 20 b
p B .Bethe-Bloch dE/dx 60
[T I
> |
kS |
LUl 15—
© B p-slice_0_10 particle: k_plus
— ” RMS = 3.242 +0.027
- £ 200 frac_bkg1 = 0.2491 + 0.0093 039
| [ b frac_bkg2 = 0.720 +0.022
10— i B ml = 4.2093 + 0.0017
— 160 mi_bkg1 = 2.0130 + 0.0086
— 140 mi_bkg2 = 9.52 + 0.21
— - sg= 0.44 +0.13
— f' sg_bkg1 = 0.224 +0.030
5— 100 I sg_bkg2 = 1.47 +0.14
B 80 J sl= 0.45 £ 0.20
B g0 | V sl_bkg1 = 0.1220 + 0.0015
B : ooty < ; | * sl_bkg2 = 1.09 +0.16
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

= 20 T Tl — S
© B o e L LT . .Bethe-Bloch dE/dx 60
[l L v, it et . .
— fs oy p-slice_0_11 particle: k_plus
— ! : RMS = 3.479 +0.027
- .2 250 frac_bkg1 = 0.1800 + 0.0036 038
— 3 frac_bkg2 = 0.6761 + 0.0053
10— O ml = 3.7102 + 0.0038
— 200 mi_bkg1 = 1.9571 + 0.0050
— mi_bkg2 = 8.516 + 0.047
— 150 sg = 0.4335 +0.0087
— sg_bkg1 = 0.1990 +0.0028
5— sg_bkg2 = 1.471 0.038
— 100 sl = 0.3521 + 0.0069
— sl_bkg1 = 0.0929 + 0.0065
B 50 | sl_bkg2 = 0.953 + 0.056
: .
0=~ 5 10 15

20 25
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)
System 0

SELECTION of Kaons:
M,, 50 MeV/c

Slices of 30 MeV/c

= 20
5 - .Bethe-Bloch dE/dx 60
e I
¢ L
S} L
% 15—
B p-slice_0_12 particle: k_plus
— RMS = 3.288 +0.024
- a frac_bkg1 = 0.1578 + 0.0096 034
c
L 5 300 frac_bkg2 = 0.642 + 0.010
/o]
1 0 I O ml = 3.416 + 0.020
— 250 mi_bkg1 = 1.9467 + 0.0060
— ml_bkg2 = 7.52 + 0.21
L 200 sg = 0.363 + 0.065
B sg_bkg1 = 0.1940 + 0.0061
5 I 150 sg_bkg2 = 1.38 £ 0.13
B sl = 0.307 +0.020
- 100 sl_bkg1 = 0.0809 + 0.0078
— sl_bkg2 = 0.696 +0.042
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

'5.' 20 B i
o B .Bethe-Bloch dE/dx 60
R
< B |
S L
L 15—
© B p-slice_0_13 particle: k_plus

— ” RMS = 2.974 +0.021

— = 350 frac_bkg1 = 0.146 £ 0.017 030

- 3 frac_bkg2 = 0.592 + 0.016

10— O 300 ml = 3.176 + 0.036

— mi_bkg1 = 1.9477 +0.0099

— 250 mi_bkg2 = 6.73 + 0.22

— sg = 0.329 +0.063

— 200 sg_bkg1 = 0.1920 + 0.0060

5— 150 sg_bkg2 = 1.287 +0.022
B sl = 0.273 +0.031
B 100 sl_bkg1 = 0.0821 + 0.0048
sl_bkg2 = 0.466 +0.034
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

'5' 20 B IS
o B .Bethe-Bloch dE/dx 60
-,
) L
0 150
LLI I
© B p-slice_0_14 particle: k_plus
— o 4001 RMS = 2.694 +0.019
- € frac_bkg1 = 0.1267 + 0.0079 026
— 8 350 ‘. frac_bkg2 = 0.531 +0.018
10— O ml = 2.9757 +0.0077
— 300 mi_bkg1 = 1.9281 + 0.0093
— mi_bkg2 = 5.999 + 0.072
— 250 sg = 0.329 + 0.065
I 200 sg_bkg1 = 0.1919 +0.0081
5— sg_bkg2 = 1.1891 + 0.0087
B 150 sl = 0.220 +0.015
B 100 3 sl_bkg1 = 0.080 + 0.032
¥ sl_bkg2 = 0.391 + 0.023
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)
System 0

SELECTION of Kaons:
M,, 50 MeV/c

Slices of 30 MeV/c

RMS = 2.388 +0.016

'5‘ 20 .
o B .Bethe-Bloch dE/dx 60
R
¢ |
S} |
LUl 15—
© B p-slice_0_15 particle: k_plus
- .g . frac_bkg1 = 0.1537 + 0.0064 022
| E frac_bkg2 = 0.490 + 0.012
10— O 350 ml = 2.7757 +0.0032
— mi_bkg1 = 1.905 +0.010
— 300 ¢ mi_bkg2 = 5.572 + 0.041
— 250 sg = 0.3295 +0.0034
— sg_bkg1 = 0.1992 + 0.0098
5— 200 sg_bkg2 = 1.0995 + 0.0065
B 150 sl = 0.209 +0.012
B f sl_bkg1 = 0.080 +0.026
B 100 j sl_bkg2 = 0.312 + 0.015
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)
System 0

SELECTION of Kaons:
M,, 50 MeV/c

Slices of 30 MeV/c

N
(@

—
(&)}

dE/dx [a.u]

10

. Bethe-Bloch dE/dx 60

p-slice_0_16 particle: k_plus
RMS = 2.200 +0.014

w +

= 450 frac_bkg1 = 0.2212 + 0.0019 019
= frac_bkg2 = 0.3837 + 0.0025

Q 400

ml = 2.57565 + 0.00033
mi_bkg1 = 1.965593 + 0.000019
mi_bkg2 = 5.042 +0.012

sg = 0.32949 + 0.00040
sg_bkg1 = 0.2154 £ 0.0014
sg_bkg2 = 1.02009 * 0.00062
sl = 0.1873 +0.0028

sl_bkg1 = 0.120 +0.037
sl_bkg2 = 0.2697 + 0.0048
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

'5.' 20
o .Bethe-Bloch dE/dx 60
R
< |
Q . .
© p-slice_0_17 particle: k_plus
RMS = 2.022 +0.012
.g frac_bkg1 = 0.1331 + 0.0060 017
3 500 frac_bkg2 = 0.4694 + 0.0086
10 O ml = 2.3756 + 0.0016
400 mi_bkg1 = 1.8206 + 0.0056
mi_bkg2 = 4.795 + 0.037
sg = 0.3295 + 0.0013
300 sg_bkg1 = 0.1878 + 0.0025
5 sg_bkg2 = 0.9133 + 0.0019
200 sl = 0.1873 +0.0024
| sl_bkg1 = 0.120 + 0.025
{ I_bkg2 = 0.213 + 0.011
100 | | sl_bkg 0.213 £ 0.0
0 \ /\
0 A _
0 5 10 15
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

= 20
3 .Bethe-Bloch dE/dx | 60
X
S o
L 15 '
p-slice_0_18 particle: k_plus
RMS = 1.927 +0.012
.g frac_bkg1 = 0.0983 + 0.0057 016
= 500 frac_bkg2 = 0.4662 + 0.0079
s}
1 0 (®] ml = 2.3056 + 0.0024
400 mi_bkg1 = 1.713 +0.087

mi_bkg2 = 4.4053 + 0.0044
sg = 0.3295 + 0.0029

300 sg_bkg1 = 0.188 + 0.025
sg_bkg2 = 0.7984 + 0.0017

200 T‘ ‘ sl = 0.1574 + 0.0070
sl_bkg1 = 0.0800 + 0.0051
\ sl_bkg2 = 0.2324 +0.0075
100 l
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

= 20
3 .Bethe-Bloch dE/dx | 60
x
S o
L 15 '
p-slice_0_19 particle: k_plus
RMS = 1.769 +0.011
2 frac_bkg1 = 0.09626 +0.00012 o6
< 500
2 frac_bkg2 = 0.42279 +0.00017
10 O ml = 2.2356499 + 0.0000040

mi_bkg1 = 1.7925 +0.0020
mi_bkg2 = 4.0939 + 0.0082

sg = 0.3294884 + 0.0000038
sg_bkg1 = 0.1994244 + 0.0000066
sg_bkg2 = 0.72526 + 0.00021

sl = 0.12489 + 0.00013

sl_bkg1 = 0.0928331 + 0.0000062
sl_bkg2 = 0.2279 +0.0049
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100
0) %
0 A N
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

5  20[
o B .Bethe-Bloch dE/dx 60
R
> — |
S} |
L 15—
© B p-slice_0_20 particle: k_plus
— ” RMS = 1.676 + 0.011
- < frac_bkg1 = 0.087 + 0.011 015
- S frac_bkg2 = 0.423 + 0.012
10— 8 ml= 2.1656 + 0.0083
— mi_bkg1 = 1.822 + 0.068
— mi_bkg2 = 3.9269 + 0.0066
| sg = 0.3295 + 0.0076
— sg_bkg1 = 0.187 +0.029
5— sg_bkg2 = 0.6758 + 0.0016
B sl = 0.1052 + 0.0060
B sl_bkg1 = 0.080 +0.025
I sl_bkg2 = 0.1985 + 0.0061
0
0

o 5 20 25
dEdX [a.u]




PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

= 20
o .Bethe-Bloch dE/dx ﬂ 60
R
< |
Q . .
L 15 . :
© p-slice_0_21 particle: k_plus
” RMS = 1.569 +0.010
2 500 frac_bkg1 = 0.00000 + 0.00011 015
2 frac_bkg2 = 0.5285 + 0.0064
10 3 ml = 2.0356 +0.0035
400 mi_bkg1 = 0.0
ml_bkg2 = 3.781 + 0.011
200 sg= 0.329 +0.043
sg_bkg1 = 0.800 +0.013
5 sg_bkg2 = 0.6091 +0.0010
200 sl = 0.1052 + 0.0037
sl_bkg1 = 0.5333 + 0.0099
100 sl_bkg2 = 0.1829 + 0.0062
0
0 od
0 10 15

20 25
dEdX [a.u.]




PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

p— > "
S 20_ Tl et TS e '
© - D T .Bethe-Bloch dE/dx 60
[l BT .o L ot . . ‘
L 15— ST Ty AR ’ :
© — . o oy p-slice_0_22 particle: k_plus
— ; RMS = 1.4385 + 0.0099
- .g frac_bkg1 = 0.00000 + 0.00013 014
L 3 450 frac_bkg2 = 0.4905 + 0.0068
1 0 QO 400 ml = 2.0037 + 0.0030
— 280 mi_bkg1 = 0.0
— mi_bkg2 = 3.619 +0.012
— 300 sg = 0.2595 + 0.0022
B 250 sg_bkg1 = 0.55 +0.49
5— 200 sg_bkg2 = 0.5716 +0.0013
B ‘ sl = 0.1052 + 0.0043
— 150 | } sl_bkg1 = 0.43 + 0.37
I 100 | | Y‘ sl_bkg2 = 0.1667 + 0.0064
| Y
0 50 \
0 y N
et — e
0 5 10 15

20 25
dEdX [a.u.]




PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

5 20
o .Bethe-Bloch dE/dx 60
Rd
< |
Q . .
L 15 '
p-slice_0_23 particle: k_plus
RMS = 1.440 + 0.010
£ 50 frac_bkg1 = 0.00000 +0.00013 ¢4
3 { frac_bkg2 = 0.4924 + 0.0068
o
10 O 400 ml = 1.9997 +0.0031
mi_bkg1 = 0.0
mi_bkg2 = 3.5526 + 0.0085
300 sg = 0.259 +0.043
sg_bkg1 = 0.831 £ 0.011
5 - sg_bkg2 = 0.53719 + 0.00071

sl = 0.1052 £ 0.0011
sl_bkg1 = 0.5538 + 0.0084
100

| sl_bkg2 = 0.1393 +0.0052
3
- — e
0 5

10 15 20 25
dEdX [a.u.]




PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

20 R T — : -
B SIPNREE =t R B Bethe-Bloch dE/dx W 60

p-slice_0_24 particle: k_plus

dE/dx [a.u]
|

RMS = 1.3407 + 0.0098

L .g 450 frac_bkg1 = 0.00000 + 0.00012 014
— 8 400 frac_bkg2 = 0.4689 + 0.0084
1 0 I O ml = 1.9958 + 0.0035
— 350 ml_bkg1 = 0.0
— 300 ml_bkg2 = 3.3085 + 0.0085
L sg = 0.259 +0.043
— 250 sg_bkg1 = 0.7609 +0.0078
5— 200 sg_bkg2 = 0.51163 + 0.00069
: 80 sl = 0.1052 + 0.0012
sl_bkg1 = 0.5073 + 0.0060
B 100 sl_bkg2 = 0.1452 + 0.0054
00 50
% 10 15

20 25
dEdX [a.u.]




PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

5 20
o .Bethe-Bloch dE/dx 60
e ‘
>
Q . .
m 1 5 . .
© p-slice_0_25 particle: k_plus
” RMS = 1.2394 +0.0094
2 w00 frac_bkg1 = 0.00000 + 0.00011 013
s frac_bkg2 = 0.4639 + 0.0095
10 Q 350 ml = 1.9808 + 0.0042
200 mi_bkg1 = 0.0
mi_bkg2 = 3.2184 +0.0078
250 sg = 0.259 +0.012
sg_bkg1 = 0.620 +0.016
5 200 sg_bkg2 = 0.4899 + 0.0012
150 sl = 0.10519 +0.00088
sl_bkg1 = 0.413 +0.013
100 sl_bkg2 = 0.1287 + 0.0063
0 50
0 §
00-' 10 15

20 25
dEdX [a.u.]




PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

p— 0 "
5 0~ T T
S N BRI < I Bethe-Bloch dE/dx 60
e L .- .'_.' ‘__':. oo Lt s i
© — . L p-slice_0_26 particle: k_plus
L . _ RMS = 1.1443 +0.0090
- 2 frac_bkg1 = 0.00000 +0.00014 ¢4
< 400
— 8 1| frac_bkg2 = 0.494 +0.023
10— O 350 ml = 1.9986 + 0.0059
L mi_bkg1 = 0.0
— 300 ml_bkg2 = 3.152 + 0.036
— 250 sg = 0.259 +0.012
— sg_bkg1 = 0.593 + 0.035
5— 200 sg_bkg2 = 0.4646 +0.0020
B 150 sl = 0.10519 + 0.00029
B sl_bkg1 = 0.395 +0.028
B 100 | sl_bkg2 = 0.075 +0.072
O 50 4 ““ .
0 SR
(= —
0 5 10 15

20 25
dEdX [a.u.]




PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

'5' 20 A . TS .
© Tl FuE Bethe-Bloch dE/dx 60
) ~_ |
'o .‘ < ’ 1,
a3 a4 r- . =t
p-slice_0_27 particle: k_plus AR
RMS = 1.0699 + 0.0087 T :
,g 400 frac_bkg1 = 0.00000 + 0.00010 012 RN o —40
S frac_bkg2 = 0.4876 + 0.0086 '
O 350
O ml = 1.9595 + 0.0027 e .
300 mi_bkg1 = 0.0 e
mi_bkg2 = 3.1449 + 0.0053 L
250 sg = 0.2395 +0.0011
200 sg_bkg1 = 0.56 +0.10 20
sg_bkg2 = 0.4440 +0.0017
150 sl = 0.0852 + 0.0020

sl_bkg1 = 0.16 + 0.26
100 s|_bkg2 = 0.1066 + 0.0067

“ | | . 0 'v. 3 2 A 7 AN o I. . -Ir e
3 SN 1000 1500
5

0
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

'5' 20 S ARDRAETS .
o RN .Bethe-Bloch dE/dx 60
d o .
P R : |
© L 1,
a3 a4 r- . -
p-slice_0_28 particle: k_plus AR
RMS = 1.0623 + 0.0090 I
.g - frac_bkg1 = 0.00000 +0.00013  (q5 e o —40
3 frac_bkg2 = 0.4461 + 0.0090 -
O 300 % ml = 1.9319 +0.0024 .
3 mi_bkg1 = 0.0 i
250 [ A ml_bkg2 = 2.8989 + 0.0059 T
q sg = 0.2195 + 0.0017
200 || % 20
J § sg_bkg1 = 0.118 + 0.099
wsor | | IP sg_bkg2 = 0.4327 +0.0017
| | 1 sl = 0.0652 + 0.0027

it sl_bkg1 = 0.31 + 0.12
‘ sl_bkg2 = 0.1110 + 0.0049

0

oJike_k- 1000 1500
5

20 25
dEdX [a.u]

10 15
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

5 R .Bethe-Bloch dE/dx 60
[Tl ) .
X i : |
o o L
13 4 r- - -7,
p-slice_0_29 particle: k_plus S .
RMS = 0.9870 + 0.0086 L :
2 frac_bkg1 = 0.00000 +0.00025 15 SR — 40
8 fl frac_bkg2 = 0.400 + 0.020 :
O 300 ml = 1.9282 + 0.0033 ,./ i
t mi_bkg1 = 0.0 ol IR
250 mi_bkg2 = 2.8024 + 0.0095
sg = 0.2195 + 0.0032
200 1 sg_bkg1 = 0.530 + 0.058 20
! ] sg_bkg2 = 0.4168 + 0.0024
i | k sl = 0.065 +0.012 e :
00t~ 1 1 | sl_bkg1 = 0.353 + 0.047 % e b e
[ % sl_bkg2 = 0.1097 + 0.0069 sjeryi! . o
s} | | ik Bk g mar 0
AN 1000 1500
0 5 10 15

dEdX [a.u.215 Momentum [MeV/c]




PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0

SELECTION of Kaons:
M,, 50 MeV/c

Slices of 30 MeV/c

p—
S 20 Ceowal o ragteat, o
© S ’
x l'l:' '
O S e
13 ar- " -
p-slice_0_30 particle: k_plus
RMS = 0.9981 + 0.0091
£330 frac_bkg1 = 0.00030 + 0.00047 (¢4
c
=2 1 frac_bkg2 = 0.414 +0.022
Q 300
O ml = 1.9542 +0.0081
mi_bkg1 = 0.0
250
mi_bkg2 = 2.7604 + 0.0074
200 sg= 0.10 +0.27
sg_bkg1 = 0.521 £ 0.043
150 | sg_bkg2 = 0.4084 +0.0013
| 1 sl = 0.1000 + 0.0020
100 \ ! sl_bkg1 = 0.080 + 0.061
| ¢ s|_bkg2 = 0.0872 + 0.0083
oJ s
0 5 10 15

20 25
dEdX [a.u]

.Bethe-Bloch dE/dx

20

1500

0

Momentum [MeV/c]




PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c
Slices of 30 MeV/c

! 20 1 .
© K : .Bethe-Bloch dE/dx - 60
— T . |
X .
RS, i '
[N 4 - . ot
p-slice_0_31 particle: k_plus AR
RMS = 0.9399 + 0.0089 I :
£ 350 frac_bkg1 = 0.00000 +0.00020  gq3 ANV K —40
8 \ frac_bkg2 = 0.409 + 0.023 P '
O 300 F\ ml= 1.940 +0.011 z B
asor I \ mi_bkg1 = 0.0
{ ml_bkg2 = 2.7356 + 0.0072
sg = 0.182 + 0.014
sg_bkg1 = 0.15 £ 0.11 20
sg_bkg2 = 0.3934 + 0.0027
sl = 0.1000 + 0.0026

sl_bkg1 = 0.27 +0.18
sl_bkg2 = 0.0905 + 0.0087
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

'5' 20 S ARDRAETS .
p SRR < X T Bethe-Bloch dE/dx -60
) ~_ |
o) ity , e
13 a4 r- " -
p-slice_0_32 particle: k_plus AR )
RMS = 0.8566 + 0.0084 R i
.g frac_bkg1 = 0.000 + 0.017 012 e . —40
3 300 frac_bkg2 = 0.4309 + 0.0030 _ .
(&) ml= 1.9334 +0.0013
250 { mi_bkg1 = 0.0
mi_bkg2 = 2.72731 + 0.00088
200 sg = 0.18241 + 0.00018
) sg_bkg1 = 0.43 +0.32 20
150 ‘ s sg_bkg2 = 0.37958 + 0.00019
| | i sl = 0.09000 + 0.00019
100 'l ‘ sl_bkg1 = 0.29 +0.21
e sl_bkg2 = 0.0724 +0.0013 g o : i
f 05 G 3 v A 7 AR A N h . -r .
50| ¥ > - | | O
N 1000 1500
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

'5‘ 20 o LS .
o I .Bethe-Bloch dE/dx -60
oy i | |
K®) = e
a3 a4 r . -
p-slice_0_33 particle: k_plus D .
RMS = 0.9139 +0.0094 It ’
- frac_bkg1 = 0.000 + 0.019 013 L —40
5 300 t frac_bkg2 = 0.4012 + 0.0028
8 ml = 1.9177 +0.0013
250 f‘ mi_bkg1 = 0.0
‘ mi_bkg2 = 2.51705 + 0.00035
200 ) sg = 0.18241 £ 0.00012
1 sg_bkgl = 0.45 +0.28 20
150 ' sg_bkg2 = 0.37130 + 0.00011
, sl = 0.08000 + 0.00022
100 1 t. sl_bkg1 = 0.30 + 0.22
[t sl_bkg2 = 0.1098 + 0.0011 i
S0/t r's | | O
1500

Ll A
—_
o
o
o

0 5 10 15
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0

SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c
20 . B ﬂ'-;.,:'r'{"_ R

p-slice_0_34 particle: k_plus
RMS = 0.7903 + 0.0085
frac_bkg1 = 0.00000 + 0.00021 012

%)
c
8 300 . frac_bkg2 = 0.213 + 0.060
&)

ml = 1.875 +0.051
250 ml_bkg1 = 0.0
i ml_bkg2 = 2.378 + 0.011

200 sg = 0.1824 + 0.0062
sg_bkg1 = 0.382 + 0,059
150 1 sg_bkg2 = 0.3616 + 0.0020
} sl = 0.0700 + 0.0016
100 1, ( sl_bkg1 = 0.263 + 0.057
v sl_bkg2 = 0.0973 + 0.0066
50 %
)
0_4 3 M—L- -
0 5 10 15

20 25
dEdX [a.u]
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20

1500
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c
20 . B ﬂ'-;.,:'r'{"_ R

Bethe-Bloch de/dx | 6o

p-slice_0_35 particle: k_plus AR
RMS = 0.7856 + 0.0088 vl :
300 frac_bkg1 = 0.00000 +0.00025 oo L S —40
% frac_bkg2 = 0.197 +0.020
250 Q ml= 1.87 +0.31
mi_bkg1 = 0.0
t mi_bkg2 = 2.3550 + 0.0045
sg = 0.18241 + 0.00081
sg_bkg1 = 0.393 +0.023
sg_bkg2 = 0.3565 + 0.0021
sl = 0.07000 + 0.00090
sl_bkg1 = 0.262 0.021
sl_bkg2 = 0.0895 + 0.0067

20

1000 1500
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)
SELECTION of Kaons:

System 0
M,, 50 MeV/c
Slices of 30 MeV/c
=z 20 Y S SN
< YT .Bethe-Bloch dE/dx -60
o Aty . =
13 ar- " -
p-slice_0_36 particle: k_plus AR
RMS = 0.7294 + 0.0084 R :
.g 300 frac_bkg1 = 0.00000 +0.00015 ¢, e o —40
3 . frac_bkg2 = 0.178 + 0.025 '
Oas0- # ml= 1.836 +0.054
) mi_bkg1 = 0.0
200 4 mi_bkg2 = 2.3407 + 0.0053
sg = 0.1824 + 0.0063
sg_bkg1 = 0.19 £ 0.10 20
150 sg_bkg2 = 0.3340 + 0.0025
sl = 0.0600 + 0.0017

sl_bkg1 = 0.005 +0.052
sl_bkg2 = 0.0854 + 0.0071
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1000 1500
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

sl_bkg1 = 0.246 +0.045
sl_bkg2 = 0.0890 + 0.0071

50

— 20
-] J
o . .Bethe-Bloch dE/dx -60
> ) -
e LA s
13 4 r- EEAE 1] 7 tet
p-slice_0_37 particle: k_plus
RMS = 0.7378 + 0.0089 L. :
.g frac_bkg1 = 0.00000 +0.00026 (¢ e o —40
= bl frac_bkg2 = 0.166 + 0.018 '
Q 250 ﬂ
O ml = 1.836 +0.074
1 mi_bkg1 = 0.0
200 mi_bkg2 = 2.3321 + 0.0055
sg = 0.1824 +0.0019
150 ! sg_bkg1 = 0.369 + 0.049
} sg_bkg2 = 0.3243 +0.0028
100 1 3 sl = 0.0600 + 0.0062
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PID Selection Procedure

EXP: mTW (w.0. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

— 20
>3 LV
o . .Bethe-Bloch dE/dx -60
> -
'C 3, "t '.".'._,-,.l.-_ i ':’
3 4r- S 1) ) -
p-slice_0_38 particle: k_plus
RMS = 0.6624 + 0.0084 L :
.g frac_bkg1 = 0.00000 +0.00023 ¢, e o —40
3 250 frac_bkg2 = 0.156 +0.020
O ml= 1.836 + 0.069
200 ) mi_bkg1 = 0.0
ml_bkg2 = 2.3233 + 0.0048
sg = 0.1824 +0.0020
10 sg_bkg1 = 0.318 + 0,042
sg_bkg2 = 0.3208 + 0.0040
100 i sl = 0.0600 + 0.0062
E sl_bkg1 = 0.174 +0.070
so— N 3 sl_bkg2 = 0.0754 + 0.0082
B
0 &i_‘ $a
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0 SELECTION of Kaons:

M,, * 50 MeV/c?
Slices of 30 MeV/c

N
(@

it ;
S ..,

Bethe-Bloch dE/dx

— 100

dE/dx [a.u]
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
System 0

SELECTION of Kaons:
M,, 50 MeV/c

Slices of 30 MeV/c

= 20 :
© N : Bethe-Bloch dE/dx
~ B |
o 15 100
© B p-slice_0_7 particle: k_plus

— RMS = 3.910 + 0.025

- .2 ) frac_bkg1 = 0.5310 + 0.0062 035

- 5 400 frac_bkg2 = 0.646 + 0.017

10— 8 250 P ml = 6.551 +0.059

— 4 mi_bkg1 = 2.26112 + 0.00080

— 300 . mi_bkg2 = 2.20 + 0.16

— 280 * sg= 0.82 +0.12

— sg_bkg1 = 0.47784 +0.00041

5— 200 sg_bkg2= 5.3 +1.4
B 150 sl= 1.319 £0.042
sl_bkg1 = 0.13683 + 0.00036
B 100 . sl_bkg2= 4.10 + 0.67
50 ;
% 500 13 o
0 5 10 15

20 25
dEdX [a.u]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0

SELECTION of Kaons:
M,, 50 MeV/c

Slices of 30 MeV/c

[\
(@

—
(&)
|

dE/dx [a.u]
|

10—

S bl

5% 8 9 10111213 1'415'171é192-2-;
| | |

0 500

Bethe-Bloch dE/dx

100

p-slice_0_8 particle: k_plus
RMS = 2.905 +0.020
frac_bkg1 = 0.0309 + 0.0034 028

+ frac_bkg2 = 1.00000 + 0.00034
b ml = 5.603 + 0.022
mi_bkg1 = 2.2141 + 0.0049
mi_bkg2 = 4.943 + 0.016
sg = 0.981 +0.049
sg_bkg1l = 0.4871 £ 0.0018
sg_bkg2 = 3.13 £ 0.13
sl = 0.645 + 0.021
~ sl_bkg1 = 0.1671 + 0.0015
sl_bkg2 = 5.76 + 0.46

150 o

100
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
System 0

Slices of 30 MeV/c

SELECTION of Kaons:
M,, 50 MeV/c

'5‘ 20 LU
© N Bethe-Bloch dE/dx
x - |
9 151 100
© B p-slice_0_9 particle: k_plus
| a mi= 4.931 +0.017
— 5 aso sg= 0.873 +0.025
s}
10— S : sl = 0.496 +0.013
: 250
— 200
5—
L 150
L 100
0 B ik ° 50
0 500 A

20 25
dEdX [a.u]



PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
y My, * 50 MeV/c
Slices of 30 MeV/c
= 20 T
o N Bethe-Bloch dE/dx
x - |
9 151 100
o B p-slice_0_10 particle: k_plus
| .2 ml = 4.430 +0.014
— = 500 sg = 0.821 +0.018
1 0 I 8 sl = 0.3873 + 0.0093
: 400
: 300
S
B 200
B A : 100
% 500

0 5 10 15 20 25
dEdX [a.u]



PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0 M, + 50 MeV/c
Slices of 30 MeV/c
= 20 e ——
© N Bethe-Bloch dE/dx
oy B \
o 15— 100
© — p-slice_0_11 particle: k_plus
: ‘2 700 ml = 3.998 +0.011
10 - é 600 :?: :;‘; t:%ros;z
: 500
B 400
S - 300
B 200
6" 9 100
% 500

0 5 10 15 20 25
dEdX [a.u]



PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
y M, + 50 MeV/c
Slices of 30 MeV/c
= 20 e —
3 B Bethe-Bloch dE/dx
x B |
S sh 100
© : p-slice_0_12 particle: k_plus
| £ 900 ml = 3.715 + 0.010
_ S 800 sg = 0.705 £ 0.011
10— 3 200 sl = 0.2745 + 0.0056
— 600
: 500
5 — 400
- 300
: ) 200
% 500 '°°

0 5 10 15 20 25
dEdX [a.u]



PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
y M, + 50 MeV/c
Slices of 30 MeV/c
= 20 NSV D -
o N Bethe-Bloch dE/dx
x B |
N 15 100
© B p-slice_0_13 particle: k_plus
L .21000 ml = 3.4431 + 0.0080
- = sg = 0.621 +0.011
10— 8 , sl = 0.2626 +0.0054
L 800
B 600
51—
- 400
B ™ ; 200 ‘\
% 500 0
o ‘ 10 5

20 25
dEdX [a.u]



PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System O
y M, + 50 MeV/c
Slices of 30 MeV/c
= 20 -
o N Bethe-Bloch dE/dx
5 N ‘
S 5L 100
© B p-slice_0_14 particle: k_plus
. .g ml = 3.2673 + 0.0078
- - sg = 0.6150 + 0.0076
1 0 I 8 sl = 0.2240 + 0.0038
5
o

0 500

10 15 20 25
dEdX [a.u]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System O
y M, + 50 MeV/c
Slices of 30 MeV/c
'5' 20 - '.:‘.-':":1'- ; '_ -
o N Bethe-Bloch dE/dx
x B |
S 5L 100
© B p-slice_0_15 particle: k_plus
. .g, ml = 3.1339 + 0.0088
- S sg = 0.6275 + 0.0020
1 0 I 81 sl = 0.1812 + 0.0026
5
of

0 500

10 15 20 25
dEdX [a.u.]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System O
y M, * 50 MeV/c
Slices of 30 MeV/c
'5' 20 o . ":J,.-:A-:’ C) '_ -0
© N Bethe-Bloch dE/dx
_é - |
= 150 100
© : p-slice_0_16 particle: k_plus
| 8 | ml = 2.9296 + 0.0057
L 51200 sg = 0.5307 +0.0094
1 0 I 81000 sl = 0.2048 + 0.0046
B 800
5 - 600
L 400
0 - 200 "‘.
0 500 0
0 5 10 5

20 25
dEdX [a.u.]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System O
y M,, * 50 MeV/c
Slices of 30 MeV/c
'5' 20 I ":J,.-:A-:’ O '_ -
o N Bethe-Bloch dE/dx
x - \
= 15 100
© B p-slice_0_17 particle: k_plus
- 1o n 8i5%4e Eoore
1 0 I 81000 sl = 0.1835 + 0.0037
: 800
5 __ 600
: 400
O — 5 6 200
0 500 ]
0 5 10 15

20 25
dEdX [a.u]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

SELECTION of Kaons:
M,, 50 MeV/c

Slices of 30 MeV/c

LD

System 0

5 20

@, B

= B

Q L

s v
10—
5
%

500

Bethe-Bloch dE/dx

100

p-slice_0_18 particle: k_plus

21200 ml = 2.7569 + 0.0074
3 sg = 0.5206 +0.0057
O1000 sl = 0.1635 + 0.0030

800

600

400

200 \

% 5 70 g

20 25
dEdX [a.u]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
= 20 —
3 Bethe-Bloch dE/dx
x |
w15 100
© p-slice_0_19 particle: k_plus
g ml = 2.6869 + 0.0064
10 g e 0550 £00020
800
600
5
400
g 2 200 &
% 500 0
0 5 10 5

20 25
dEdX [a.u.]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c

Slices of 30 MeV/c

[\
(@

= B neD
3 - Bethe-Bloch dE/dx
x B \
S 5L 100
© — p-slice_0_20 particle: k_plus
. .31 000 ml = 2.6169 + 0.0045
| S sg = 0.52960 + 0.00061
/3]
10— - O sl = 0.1420 +0.0020
I 800
L 600
5l i
— AL 400
— 57 8 9 .10111'2 13 1. 15’]715&19'2-2232 200
OO | 1 1 1 500 1 1 1 |
% ) 5

20 25
dEdX [a.u.]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
y M, 50 MeV/c
Slices of 30 MeV/c
= 20 o —
s, B Bethe-Bloch dE/dx
x B |
5 15— 100
© : p-slice_0_21 particle: k_plus
| .g 900 ml = 2.5077 + 0.0055
- 5 sg = 0.5296 +0.0084
10— S 800 sl = 0.1327 +0.0029
- 700
B 600
- 500
5 - 400
- 300
: %, 200
% 500 N

0 5 10 15

20 25
dEdX [a.u.]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
y M, + 50 MeV/c
Slices of 30 MeV/c
= 20 T -~
s, B Bethe-Bloch dE/dx
x B |
0 15 100
© : p-slice_0_22 particle: k_plus
L 2 ml = 2.4554 +0.0038
| 5 800 sg = 0.4900 + 0.0069
10— 8 700 sl = 0.13275 + 0.00077
: 600
: 500
5 I 400
B 300
: 200
% 500 iy

10 15 20 25
dEdX [a.u.]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
y M, + 50 MeV/c
Slices of 30 MeV/c
3 - Bethe-Bloch dE/dx
-é B \
N 15— 100
© : p-slice_0_23 particle: k_plus
L 2 ml = 2.4254 + 0.0037
L 5 700 sg = 0.4578 + 0.0069
10— : 3 o [ sl = 0.13275 + 0.00053
I R 500
— 400
5l
B : SRR TR R R -
N o S 200
0 — . " 8 9 1011 1'2I1'é 1'515'171531'92-2-22'32 O : 100 \
0 500 U
0 5 70 5

20 25
dEdX [a.u]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
y M, + 50 MeV/c
Slices of 30 MeV/c
= 20 o —
s, B Bethe-Bloch dE/dx
x B |
0 15 100
© : p-slice_0_24 particle: k_plus
| .g ml = 2.4072 + 0.0040
- S 600 ] sg = 0.4578 +0.0093
10— S sl = 0.13275 + 0.00058
— 500
- 400
5 — 300
: 200
L g ] 100
% 500

0 5 10 15

20 25
dEdX [a.u.]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
= 20 e
3 B Bethe-Bloch dE/dx
-é — |
N 15— 100
© : p-slice_0_25 particle: k_plus
. .g ml = 2.3953 + 0.0045
— = ) sg = 0.455 +0.015
10— 8 500 sl = 0.13275 +0.00088
B 400
5 __ 300
: 200
: 6"y 6 100 1
% 500 g
0 5 10 5

20 25
dEdX [a.u]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
= 20 e
@, C Bethe-Bloch dE/dx
3 - |
°© B p-slice_0_26 particle: k_plus
- ml= 2.3747 + 0.0054
| sg = 0.4480 + 0.0071
1 0 _ sl = 0.1327 £ 0.0015
5
% 500

10 15 20 25
dEdX [a.u]




PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
= 20 e
3 - R Bethe-Bloch dE/dx -
2 . I R — 100
p-slice_0_27 particle: k_plus
.g WoE- | ml = 2.3480 + 0.0069
= sg = 0.444 +0.015
8 350 sl = 0.1327 +0.0025
300 ' >
e — 50
250
200
ey R B R R I IR
100 Provhoit b L s SRR
G303132,3334 3536 37 38384041
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. 1000 1500
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c
Slices of 30 MeV/c

'5' 20 - . T LB . . : . , .
< SRR Bethe-Bloch dE/dx -
_é . Y u vy : .. : ) ‘
SEEpE R —100
p-slice_0_28 particle: k_plus
.g 350/ ml = 2.3343 + 0.0083
s s sg = 0.4441 + 0.0024
O 300 sl = 0.1327 +0.0012 »
250 y — 50
200
150
0 PRl e,
T30 23534 35383736 384041 ©
50 | ] | ] ] | | O
0 1000 1500
0 10 15

dEdX [a.u.215 Momentum [MeV/c]



PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System O
Y M,, 50 MeV/c
Slices of 30 MeV/c
= 20 e —
3 - Bethe-Bloch dE/dx -
x R et o-
S . R —100
p-slice_0_29 particle: k_plus
.g mi= 2.320 +0.010
3 250 sg = 0.4441 £ 0.0022
8 sl = 0.1327 £ 0.0023 -
200 ] 50
150
ey TR SRR R I EC R
., wekheieear N
. 1000 1500
0 10 15

dEdX [a.u.215 Momentum [MeV/c]



PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System 0
Y M,, 50 MeV/c
Slices of 30 MeV/c
= 20 e —
3 Bethe-Bloch dE/dx -
x R et o-
9 R R — 100
p-slice_0_30 particle: k_plus
2 ml= 2.281 + 0.019
5 250 sg = 0.4217 < 0.0014
8 sl = 0.1317 £ 0.0048 -~
200 ] 50
150
100
. rrE e e |
. 1000 1500
0 10 15

dEdX [a.u.215 Momentum [MeV/c]



PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System O
Y M,, 50 MeV/c
Slices of 30 MeV/c
= 20 — —
2 D Bethe-Bloch dE/dx ||
S . R — 100
p-slice_0_31 particle: k_plus
2z ml = 2.258 +0.024
5 200 sg = 0.4399 +0.0021 »
8 180 sl = 0.1264 + 0.0048
160
140 ] 50
120
100
80
60 i : R : RO
40 | ' 3 |'4 3346'211‘ '., o | o 0
22 1000 1500
0 ° B ® O dEaX[au] Momentum [MeV/c]



PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c
Slices of 30 MeV/c
Dedgman S Bethe-Bloch dE/dx |

p-slice_0_32 particle: k_plus

— 100

ml = 2.249 +0.022
sg = 0.4399 £0.0019 >

sl = 0.1264 + 0.0099

.........
PR R R - N e L RTRT
-----------
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1000 1500
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c
Slices of 30 MeV/c
. SR | Bethe-Bloch dE/dx ||

p-slice_0_33 particle: k_plus

— 100

ml = 2.2490 £ 0.0073
sg = 0.4399 £ 0.0065

sl = 0.1264 £ 0.0015
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.........
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c
Slices of 30 MeV/c

'5' 20 - TR L ',.. . -. ) .
z B S Bethe-Bloch dE/dx |
% R T |
= ‘r R — 100
p-slice_0_34 particle: k_plus
.g 140 ml = 2.2490 + 0.0093
S sg = 0.4399 + 0.0063
Q 120
O sl = 0.1264 +0.0022
100 —50
80
60
40 bt A e
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0 1000 1500
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c
Slices of 30 MeV/c
. SR | Bethe-Bloch dE/dx ||

p-slice_0_35 particle: k_plus

— 100

ml= 2.249 +0.018
sg = 0.4399 £ 0.0062

sl = 0.1264 +0.0021

.........
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)
SELECTION of Kaons:

System O
Y M,, 50 MeV/c
Slices of 30 MeV/c
= 20 T —
3 - Bethe-Bloch dE/dx -
x R et o-
S . R —100
p-slice_0_36 particle: k_plus
ml= 2.229 +0.035
sg = 0.4399 + 0.0098
sl = 0.1164 £ 0.0084
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c
Slices of 30 MeV/c
. TN, | Bethe-Bloch dE/dx -

p-slice_0_37 particle: k_plus

— 100

ml= 2.23 +0.32
sg = 0.4399 £0.0073

sl = 0.1113 £ 0.0073
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PID Selection Procedure

GiBUU: W (w.o. energy loss correction)

System 0 SELECTION of Kaons:

M,, 50 MeV/c
Slices of 30 MeV/c
. SR | Bethe-Bloch dE/dx ||

p-slice_0_38 particle: k_plus

— 100

ml= 222 £0.33
sg = 0.4399 £ 0.0083

sl = 0.1031 £ 0.0053
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